Company	M	HPL-SOV	-III	Name of contractor	Anirudh D	hal	Sl. No. site bills	reg. 138	4	
Project/site	Si	lver Oak V	illas-III	Nature of work	Plumbing	Work	Dt. site bills reg.	02-0	02-02-2024	
Block no.	13	36, 206 to 2	210,214	Work done from date	10-10-202	4	M-codex bill ID.			
WO no.	N	A		Work done to date	15-01-2024		WO issued ?	NA	NA	
WO date	N	A	Contractor bill no.				GST bill required	l? NA	NA	
Sl. No.	Unit/floor no	Detai	ls of work		Qty	Units	Rate ID	Rate	Amount	
1.	V.No:205-206	Layir	ig C C Hume	e pipes,For electrical	120.00	Rft	MIS128	30.00	2880.00	
	N-Side& 200 211&199-210	- P	lumbing line	es						
	road center									
2.	From V.no 197	7- Layir	g C C Hume	e pipes,For electrical	19.00	Nos	PB117	2500.00	47500.00	
	205,V.no136 & 206-214	k and p	lumbing line	es Under Footpath						
3.	From V.no 160) 63mn	PVC pipe	s laying for main	260.00	Rft	MIS117	15.00	3900.00	
	to 206		lines purpos							
4.	From V.no 160 to 206) 50mm		s laying for main	260.00	Rft	MIS117	15.00	3900.00	
5.	From V.no 160 to 206		n PVC pipes lines purpos	s laying for main se	260.00	Rft	MIS117	15.00	3900.00	
6.	From 186 to 21			pipe from main line to line 32,40,50mm	885.00	RMtrs	MIS101	13.00	11505.00	
7.	Near 172 to 21	3 South	side to sept	ic tank	90.00	Rft	MIS134	16.00	1440.00	
		1					Total amt		75,745.00	
Remarks:				,			1			
Approved by	project Balange	ED BY		Approved by QS team			Approved by Di	rector/F&T) team	
Sign:	(A	/		Sign:			Sign:			
Date:				Date:						

Notes: 1. This sheet replaces in called a provide for credit to contractors. 2. This word form must be typed. 3. Use this form even if work order is not issued. 4. Attach measurement and estimate sheets only if required i.e., details cannot be backed by the bill amount greater than 10k QS manager and directors approval is required. 6. For bill amount less than 10k any QS team member may sign and in place of director sign of respective Exponent details (for GHT + GMR), Sachin (for Vivopolis), B. anand Kumar (for NGH + NRK). 8. Entry of rate ID is mandatory. 9. This sheet must be sent within 2 working days of work completion (with or without contractors bill). 10. Contractors to send scanned copy of bill to site and QS by email. 11. Contractors must submit original bills at HO (can be sent by courser).

Intl memo no. 918-001 - QS - Anx B - Work Completion Report

ESTIMATE SHEET			A	h		
Company Name:	Modi Housing Pvt.Ltd - SOV-III		Approved	by:		
Project:	Silver Oak Villas-III		Sign:			
Work Description:	Plumbing works					
Name of the Contractor	Anirudh dhal					
Prepared By	J.kiran kumar					
Date:	14-02-2024	Quantitu	Units	Rate	Amount	Item Head Total
S No. Item Head	Item Description	Quantity	Units	Rate	Allount	Telli Head Total
	V.No:205-206 North side	120.00	Rft	30.00	3600.00	
1 Laying C C Hume pipes	V.No:200-211 and V.No:-199-210 road center	120.00	- Aut	50.00		
For electrical and plumbing lines	V.NO:200-211 and V.NO:-199-210 load center					
	From V.no 197-205	19.00	Nos	2500.00	47500.00	
2 Laying Eco Drain pipes and	From V.no136 & 206-214	17.00	1105	2000.00		
Laying C C Hume pipes	From v.no136 & 206-214					
For electrical and plumbing lines						
under footpaths						
3 63mm PVC pipes laying for main water lines purpos	e From V.no:160-206	260.00	Rft	15.00	3900.00	
5 05min FVC pipes laying for main water miles purper						
4 50mm PVC pipes laying for main water lines purpos	e From V.no160-206	260.00	Rft	15.00	3900.00	
				15.00	3900.00	
5 40mm PVC pipes laying for main water lines purpos	e From V.no160-206	260.00	Rft	15.00	3900.00	
	From V.no186-196	885.00	Rmt	13.00	11505.00	
6 Laying of HDPE Pipes for water 1		005.00	Tun			
lines for villss and garden lines	From V.no197-205					
32mm,40mm and 50 mm	From V.no206-213					
		90.00	Rft	16.00	1440.00	
7 6" Eco drain pipe laying	For septic tank out let near Vno 213	90.00	Kit	10.00	1440.00	
					Total Amoun	it 75,745
	Total:Seventy Five Thousand Seven Hundred and	Forty five run	es			
	Total:Seventy Five Thousand Seven Hundred and	i ony monup	05			· · ·



	UREMENT SHEET								
Compa	any Name:	Modi Housing Pvt.Ltd - SOV-III		Approve	d by:				
Projec	t:	Silver Oak Villas-III		Sign:					
Work	Description:	Plumbing works							
	of the Contractor	Anirudh dhal							
Prepar	red By	J.Kiran Kumar							
Date:		14-02-2024							
S No	. Item Head	Item Description	Length	Width	Height	Nos.	Quantity	Units	Item Head Total
1	Laying C C Hume pipes	V.No:205-206 North side	40.00	1.00	1.00	1.00	40.00		
	For electrical and plumbing lines	V.No:200-211 and V.No:-199-210 road Center	40.00	1.00	1.00	2.00	80.00	Rft	
									120.00
2	Laying Eco Drain pipes and	From V.no 197-205	1.00	1.00	1.00	9.00	9.00	Nos	
	Laying C C Hume pipes	From V.no136 &206-214	1.00	1.00	1.00	10.00	10.00	Nos	
	For electrical and plumbing lines								
_	under footpaths								19.0
3	63mm PVC 10Kg/cm pipes laying	From V.no:160-206	260.00	1.00	1.00	1.00	260.00	Rft	
	for main water lines								260.0
4	50mm PVC 10Kg/cm pipes laying	From V.no160-206	260.00	1.00	1.00	1.00	260.00	Rft	
	for main water lines								260.
5	40mm PVC 10Kg/cm pipes laying	From V.no:160-206	260.00	1.00	1.00	1.00	260.00	Rft	
	for main water lines				~				260.0
6	Laying of HDPE Pipes for water 1	From V.no186-196	112.00	1.00	1.00	3.00	336.00) Rmt	
-	lines for villss and garden lines	From V.no197-205	98.00		1.00	3.00) Rmt	
	32mm,40mm and 50 mm	From V.no206-213	85.00		1.00	3.00		0 Rmt	
									885
7	6" Eco drain pipe laying	For septic tank out let near V no 213	45.00	1.00	1.00	2.00	90.00	0 Rft	
									90.

Bill for Labour Charges

Anirudhal H.No.13-1/16A, Surya Nagar Colony, Mallapur, Hyderabad

Date: 14-02-2024

In favor of:	M/s.MHPL-SOV-III
Project / Site:	Silver Oak Villas-III
Location:	Cherlapally

Type of Work:	Plumbing
Towards:	Labour Charges

S No.	Description	Amount
<u>5 No.</u> 1.	Brief description of work done: Towards:-Laying Eco Drain pipes,Laying C C Hume pipes,For electrical and plumbing lines,under footpaths.From V.no 197-205,V.no 206-214, PVC, HDPE,Eco Drain Pipe laying work	Rs.30,298/
	Total Amount = $75,745/-$. Work Done from date:10.04.23 to date: 15.01.24	

Amount in words: Rs. Thirty Thousand Two Hundred Ninety Eight Only/-

Sign: _____

.

•

Bill for Equipment Allowance

Anirudh Dhal H.No.13-1/16A, Surya Nagar Colony, Mallapur, Hyderabad

Date: 14-02-2024

In favor of:	M/s.MHPL-SOV-III
Project / Site:	Silver Oak Villas-III
Location:	Cherlapally

Type of Work:	Plumbing
Towards:	Allowance for Equipment Charges

S No.	Description	Amount
1.	Brief description of work done:	
	Towards:-Laying Eco Drain pipes, Laying C C Hume	Rs.30,298/
	pipes,For electrical and plumbing lines, under	
	footpaths.From V.no 197-205, V.no 206-214, PVC,	
	HDPE,Eco Drain Pipe laying work	
	Total Amount = $75,745/-$.	
	Work Done from date:10.04.23 to date: 15.01.24	

Amount in words: Rs. Thirty Thousand Two Hundred Ninety Eight Only/-

Sign: _____

Bill for Consumable Charges

Anirudh Dhal H.No.13-1/16A, Surya Nagar Colony, Mallapur, Hyderabad

Date: 14-02-2024

In favor of:M/s.MHPL-SOV-IIIProject / Site:Silver Oak Villas-IIILocation:Cherlapally
--

Type of Work:PlumbingTowards:Allowance for Consumable Charges

S No.	Description	Amount
1.	Brief description of work done: Towards Completion Laying Eco Drain pipes,Laying C C Hume pipes,For electrical and plumbing lines,under footpaths.From V.no 197-205,V.no 206-214, PVC, HDPE,Eco Drain Pipe laying work Total Amount = 75,745/ Work Done from date:10.04.23 to date: 15.01.24	Rs.15,149/

Amount in words: Rs. Fifteen Thousand and One Hundred Forty Nine Only/-

Sign: _____